FOrReVER | REDWOOD

From the Forest, For the Forest since 1995
866.332.2403 (TOLL FREE); 7am — 7pm Pacific Time, Monday-Saturday

ASSEMBLY INSTRUCTIONS FOR THE
OVAL PICNIC TABLE

(ATTACHED BENCHEYS)




*3z1S Uo bulpuadap AipA [jim a1pmpapy JnoA Jo suoisuawiq ;930N

"SI 3T 07 SaUIUaq
auyy yoexe o] /sBa| ayy 03 pue dojejqe) ay) o)
saoeiq 8y} yoene o] / doisjqel ay) o1 sbis) ay)

v (e yoene o] / sba| ay1 01 suoddns ay1 yoene o)
sjog .. € X ..9T/9
"'ON Buimeaqg uondiiosag

1S1TT13dVMNMALVH

"JU3s s340d Y3 UO PAYIDW SIdGUINU 3Y] 0] YIIDW 10U Op 353y | ‘A|UO 32Ua13fa.J JOf 240 3[GD] SIX0g JO JUSIUO) Yy} Ul SIdGUINU 1UDJ :dI0N

S Y A—— sadeld asu] Z
T . dojsjqeL T
‘'ON Buimeaqg uondiiosag ‘RO

S3X04d 40 LN3JLNOD

Pl 1

OVAL PICNIC TABLE (ATTACHED BENCHES)

www. ForeverRedwood.com



"JUas s34bd aY3 UO PaYIDW SIAGUINU 3YI O Y2IDW J0U Op 3saY [ "AJuo 32uaiafal 1of 34p BUIMDIQJ 3y} Ul SIaqUINU 140 :330N

sayouag

Saoelg 33U

suoddns 61 Buo]

suoddng B3 1oys

sha]

doje|qeL

ON

NOILdId0S3d

P| 2

OVAL PICNIC TABLE (ATTACHED BENCHES)

www.ForeverRedwood.com



Step 1: Attach the legs (2) to the short leg supports (3) and to the long leg supports (4) with 5/16" x 3 %" bolts (A). Each part
has a series of numbers that indicate where to attach the part with the corresponding number.

5/16" X 3% Bolts

5/16" X 3% Bolts

Step 2: Place the tabletop (1) upside down. After that use 5/16”" x 3 %2"" bolts (A) to attach the legs to the tabletop (1). Each part
has a series of numbers that indicate where to attach the part with the corresponding number.

5/16" X 3% Bolts

P|3

OVAL PICNIC TABLE (ATTACHED BENCHES)
www. ForeverRedwood.com



Step 3: Attach the knee braces (5) to the tabletop and to the legs with 5/16"" x 3 %2"" bolts (A). Each part has a series of numbers
that indicate where to attach the part with the corresponding number.

5/16” X 3 %" Bolts

5/16” X 3 %" Bolts

Step 4: Finally turn the table over its feet and later attach the benches (6) to the legs with 5/16"" x 3 %2 bolts. Each part has a
series of numbers that indicate where to attach the part with the corresponding number.

5/16" X 3% Bolts

Pl 4

OVAL PICNIC TABLE (ATTACHED BENCHES)
www. ForeverRedwood.com



This completes the Picnic Table assembly. Hope you enjoy your set for many decades. If you ever have a problem or a question,
don't hesitate to call us (866 332 2403) or email us. We are here to support you.

P| 5
OVAL PICNIC TABLE (ATTACHED BENCHES)
www. ForeverRedwood.com



